Chapter 6

Supply, Demand, and Government Policies
Introduction
· Markets are not immune to problems and their outcomes can be biased by a series of problems (such as externalities) that we will study in this course.

· Sometimes the market outcomes are perfectly efficient but sociably unacceptable.

· How can we solve this type of problems? Trough government intervention.

· The government can intervene in a market by controlling prices: setting maximum prices (price ceilings) or guaranteeing minimum prices (price floors.)

· The government can intervene in a market by altering incentives: imposing taxes (requiring payments for certain activities.)
Controls on Prices
a) Price Ceiling: The government determines that the market price of a certain good can not be above a certain maximum (e.g.: rent for students' apartments, taxi rides from the airport to downtown.)

· The objective is to make certain goods accessible through a low price to a large proportion of people. Problems will arise if the maximum price is set below the equilibrium price.

[NOTE: if the price ceiling is set above the equilibrium price then this price control is not binding for market participants (i.e.: it is ineffective, the price ceiling would not be reached.)]

· The excess of quantity demanded over quantity supplied (shortage) would require rationing and that usually involves waiting in lines or simply being left out without the good.

Example: Rent Control in New York. An artificially low price on rental property decreases the long-run quantity supplied (since fewer landlords are able to cover maintenance costs.) A shortage of apartments for rent will develop. The ones that are available are of reduced quality (dumps) to help lower costs as revenue is declining.

b) Price Floor:  The government determines that a certain good will not be sold a price below a certain minimum (e.g.: agricultural subsidies on milk, sugar, corn production.)

· The goal is to guarantee a minimum stream of income to certain groups of workers. The problem may arise of the price floor is set above the equilibrium price.

[NOTE: if the price ceiling is set bellow the equilibrium price then this price control is not binding for market participants (i.e.: it is ineffective, the price floor would not be reached.)]

· The excess of quantity supplied over quantity demanded (surplus) would require the stocking of the unwanted goods. Otherwise, their free sale will greatly depress the price of the good.

Example: Agricultural Price Support Programs. An artificially high price (subsidized) on agricultural goods stimulates an increased quantity supplied (creating surplus.) The government typically buys the surplus, but can't sell it because it will drop the market price. Corporate farmers receive the greatest support, while family farmers receive the least support, and consumers pay artificially inflated product prices or support these programs with taxes.

Example: Minimum Wage. Is $5.15/hr. a binding price floor or not? Probably not for a lawyer but for unskilled workers (e.g.: high school dropouts) it may very well be. Some studies indicate that high minimum wages increase teenage unemployment both because quantity demanded of labor falls and because quantity supplied of labor rises. Nonetheless, these wages are effective in improving the living standards of the lower strata of the labor force.
Taxes

· As the saying goes, there are only two certain things in life: death and ... (you know the rest.)

· Taxes are government tools to collect revenue -used to finance public expenditure programs.

· This collection is mandatory although you will be surprised to learn that both consumers and producers end up sharing the burden of taxes. This tax incidence is in fact quite disruptive.

a) Taxes on Buyers: The government may choose to levy a tax on the purchasing of a particular good (i.e.: the buyer is responsible for paying the tax; e.g.: payroll tax.)
· Supply is not affected because none of the determinants of supply is affected.
· Demand is affected because for each quantity of the good consumers have to pay the regular price plus the tax. The demand curve will shift to the left (down) by the amount of the tax.

Conclusion: The new equilibrium price and quantity are lower: producers are selling less and making less money per unit sold; consumers are buying less and paying a higher price. The market is affected because there is less activity and both consumers and producers share the burden.
b) Taxes on Sellers: The government may choose to levy a tax on the sales of a particular good (i.e.: the seller is responsible for paying the tax; e.g.: sales tax.)

· Although suppliers transfer the burden of the tax onto consumers demand itself is not affected because none of the determinants of demand are affected. Quantity demanded will be, though.
· Supply is affected because producers will have to sell their goods at regular price plus tax (stores only charge and collect sales tax in representation of the government.) The supply curve will shift to the left (up) by the amount of the tax.
Conclusion: The new equilibrium quantity is lower: consumers will demand less of the good and producers will supply less. The new equilibrium price is higher because part of the price will be transferred to the government as tax. The market is affected because there is less activity and both consumers and producers share the burden.

· The economic effects are the same regardless of how the tax is legally designed. The sales tax or the payroll tax may be examples of taxes imposed on sellers or buyers, respectively, but the economic impact is the same. The market disruption is identical.
Elasticity and Tax Incidence

· Recalling our discussion of the concept of elasticity we can see that the actual slopes of the demand and supply curves have a great influence on how taxes impact taxpayers.
· We just saw that the tax incidence is independent of whether the tax is levied on buyers or on sellers. As shown above, the burden is shared in both cases. Nonetheless,
· With an inelastic (steep) demand curve a larger share of the burden falls on the buyers; sellers bear a larger burden as the demand curve turns more elastic (flat.)

(e.g.: luxury taxes on yachts and the unequal burden on the rich and on shipyard workers.)
· With an inelastic (steep) supply curve a larger share of the burden falls on the sellers; buyers bear a larger burden as the supply curve turns more elastic (flat.)

(e.g.: payroll tax and the unequal burden on workers and on firms.)

· The burden of the tax is always higher on the more inelastic side of the market.
